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General Instructions :
(i) The question paper consists of 5 sections and 37 questions.

(it) Section-A consists of questions 1-18 carrying 1 mark each and are
multiple choice questions. All questions are compulsory.

(iii) Section-B consists of questions 19-24 carrying 2 marks each and are
Very Short Answer Type and their answer should not exceed 60-90
words. Attempt any 5.

(iv) Section-C consists of questions 25-30 carrying 3 marks each and are
Short Answer Type and their answer should not exceed 100-150 words.
Attempt any 5.

(v) Section-D consists of questions 31-33 carrying 4 marks each and are
case studies. There is an internal choice available.

(vi) Section-E consists of questions 34-37 carrying 5 marks each and are
Long Answer types and their answer should not exceed 200-300 words.

Attempt any 3.

SECTION - A
(All Questions are compulsory.)
1. Which one of the following is a post-competition responsibility of the
technical committee ?
(A) Requisition to purchase equipment
(B) Arrangement of equipment and stationery

(C) Arrangement of officials
(D) Maintenance of the field

2.  Which of the following is an objective of Intramural tournaments ?
(A) To achieve high performance at the highest level of the tournament.
(B) To develop the feeling of integration with other institutions.
(C) To provide opportunities for choosing a career in sports.
() To promote health and recreation at the institution.

3.  Which of the following deformity is NOT related to lower extremities ?
(A) Knock-Knee (B) Scoliosis
(C) Bow-legs (D) Flat-foot

4. Brisk walking, running, bicycling and jumping are related to which
activities ?
(A) Speed activities
(€) Endurance activities

(B) Strength activities
(D) Co-ordinative activities

5.  As per prescribed syllabus, Suryabhedan Pranayam is recommended for

o& Obesity (B) Hypertension
(C) Asthma (D) Back pain
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@% 6. Identify the asana : ]

6. 399 & B9 :

(A) Chakrasana (B) Dhanurasana
(A) THTE (B) €qUEA (C) Halasana (D) Ushtrasana
(C) &&EA (D) STTEA (For Visually Impaired Candidates Only)
Which one of the following is the correct pose of Paschimottanasana ? 1
(Fad m_wm__ﬂm et & fo10) (A) Forward bending in a standing position.
frafafRes o @ 19 ot afvawam@Ea &1 98t Hal 27 1 (B) Forward bending in the sitting position.

(C) Head raised in the prone position.

fa & 31 6t AR
M.MW Mw S Mﬂ/_n £ ,.m_ﬁ g (D) Head raised in the supine position.
31 T ~ Ahl
A _- N— 7. Given below are two statements, one of which is labelled as Assertion (A)
(C) W wmam q_/m w wmﬂﬂﬂﬂ = and other 1s labelled as Reason (R). Read both the statements carefully : 1
(D) I3 % &7 Tt e S . S Assertion (A) : The International Paralympic Committee (IPC), has
7. 4= 3@ wy= feun €, @ AU (A) 3R g %! BT (R) & &9 | Hfehd fhaT developed a classification process which can contribute “to
| e 8 g i | S S N A
s : o e ralympic Movement, a ; .
FANHGT (A) : wﬂnﬂ&j m.ﬂ&.ﬂ&.%_a .Auﬂw.ﬁ.mﬁ.v wwww e ¥ fore @ e # Reason (R) : The classification process serves two roles. The first is to
2, S JeAtyes JATeieH g aft fgenfeat o determine who is eligible and the second is to grouping
IS ¢ Fhdl 7, IR FHH yfereayt 9eH & Fhd1 2 | the sports people for the purpose of competitions.
&I (R) - uicTu B E L IRA! J,P&_m Tt 2 | vEen g8 fuifa @ 2 f6 3 In the context of the above two statements, which one of the following is
=g 3R ea ST & 3evd & Raenfedi & aqg s 2 | correct ? |
— i - 4 Hﬂw?w 3 ﬂ@ﬂd T T S T (A) Both Assertion (A) and Reason (R) are true and Reason (R) 1s the
394 & HYA & Hed 1, (i - : £ ad 3 correct explanation of the Assertion (A).
(A) FfFUT (A) 3 FROT (R) GHI 981 & 3T B (R), FHHYA (A) s (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
(B) afisya (A) 3R ®ruT (R) gF1 |&l 8, 9 R0 (R), FAfHYA (A) H HE correct explanation of Assertion (A).
AT 81 & | (C) Assertion (A) is true, but Reason (R) is false.
©) e (A) TE 2 T FROT (R) TR 3 (D) Assertion (A) is false, but Reason (R) is true.
(D) YT (A) Teid 2, T FA (R) qE R | 8. . are Em colours, that represent the four regional confederation
S in the Deaflympic logo. 1
8. 3 11 8, S Swfafte vdte fag 3 9 &t g &1 gfaffae Hd 2 | 1 (A) Red, blue, black and yellow (B) Blue, yellow, black and red
(A) T, S, ST AR g (B) e, dfet, srer 3R e (C) Red, blue, yellow and green (B) Blue, black, red and yellow
(C) T, e, dien 3t gu (D) e, e, @rel 3R dier 9. Mﬁgmﬂvgﬁm of lever has the load resistance between the fulerum and the
- . o orce 1
9. fravers ey H.Ez 3 & & o9 | R 9oy g1 2 7 . 1 (A) First class lever (BY Second class lever
(A) wuq goft oftex 4 (B) fadta #oft mﬁmﬂw (C) Both (A) and (B) (D) Third class lever
5 o D gyoft fta
(C) (A) ¥ (B)zFI D) TN 75 Page 5 of 16 ~ P.T.O.
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10. faafm ¢ +1 asfRs Im 2| 1 10.  The scientific name of Vitamin ‘C’ is : 1
(A) feafes ans (B) Uwhitaeh 3 (A) Betadine acid (B) Ascorbic acid
(C) vERfA= v (D) ETESIaaIeh A (C) Acetonic acid (D) Hydrochloric acid
11. 9= 2 =3 Ry #, w it afvwua (A) AR g H F (R) & &9 # 3fferd fha 11. Given below are two statements, one of which is labelled as Assertion (A)
T 2 | 2R HuE F) s afeu - | 1 MMM oﬂw.ma HmM vam:‘mw mm.mewo: (R). wmmm vgw ﬂrm wﬁwmﬁma.m:ﬁm carefully : 1
| o . ¥ @R ertion + L'he risk of cancer can be reduced by eating more colourful
HWHYF (A) M_ﬂﬂ Wﬁqﬁ@an_, Ma wﬂ.ﬁ.,ﬁﬂ qicd m?_ﬂmwﬁ EMWMJ q vegetables, fruits and other plant-foods that have certain
FYq ST ghal &, foaH G FTgeIeh (Mo phytochemicals in them.
ST (R) . ITTER & T-TI¥e U Tgiora HTER 1 T &= 2 | Reason (R) : Non-nutritive components of diet are part of balance
TTd 3 el & we , FrfRed A A SR A A 2 2 diet.
(A) 3R (A) 3R HA (R) S S ay ®) SfraRe ( >v%_d%mﬁmﬂw | In the context of the above two statements, which one of the following is
; \ - v correct ?
(B) fumya (A) 3R HRO (R) IHI HEl &, g HRU (R), 3AHUA (A) % el (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
AT T8 8 | correct explanation of the Assertion (A).
(C) Hfvred (A) T8 8, 9 1R (R) Teid 4 (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
- | t explanation of Assertion (A).
(D) 3Ry (A) Tod 8, T HRT (R) T8 2 | correct explan
oy . , i : N (C) Assertion (A) is true, but Reason (R) is false.
12. form qhigor § ity 3R 3ifam o & o9 I&mnn%m_n,_maaﬂmw ThR T foHaT M1 R 7 1 (D) Assertion (A) is false, but Reason (R) is true.
R LG D - &ul : : ‘
Mww @Nﬂdwm%m Mamc_ MWW %M@waﬂgﬁ 12. In which test, score is recorded to the nearest centimétre between the
initial and final score ? 1
13, gt — [ § 1R & bR 3R gt — 11 § 37 wrgv feu e 2 1 (A) Partial curl-up (B) Back stretch test
gt -1 gdt - 11 (C) Sit and reach test (D) Chair sit and reach test
I & THR [SL:R| 13. Given vﬂwi B.M types of fractures in List — I with their features in List — II : 1
AT 1. 1ty &1 Tt ge 1St - List — II
MMW ferteh i AT FTHE w&ﬂ% o el Types of Fractures Features
R . dhici (a) Transverse 1.  Bone breaks diagonally
(c) ﬁz._mwmw i, AR H uﬁﬂuﬂﬂz 5 (b) Oblique ii. Bone is crushed into number of pieces
(d) fa@fea iv. @Hd AR, e g2 98 Il 2 (¢c) Green .maow 1.  Straight break right across a bone.
gt — 1 &t uei &1 gt — 11 | e Fifse qen fafafaa @ @ a8t fased &1 g4 (d) OoBB.E:nma | 1v.  Soft bone, in which bone bends
Hifyru - Match the :mﬁm of List — I with List — IT and choose the correct option
@ ® © @ from the following :
(A) ii iv i i (@ () () (@@
(B) 311 - 1 W i (A) m 1iv 1 1
(C) 1 .. 1 <1l W B) i 1 v i
(D) " m=xy * 1 (C) .m. .w.w. .%w 1V
14. “tiew $t iz a9 9% [RR @ 2 79 a8 39 W 1% Fod § JgR 7 f6a1 9 |” - I8 D) 1 doav i
U frg 3 S FT 2 7 1 14. anE:w golf Um% remains at rest until it is struck by a golf club.” This
statement indicates —
(A) i Wanw_dn MWW MMWMHWM&ﬁ (A) Law of Fmg.mm (B) Law of Acceleration H
(C) oM o1 1 (C) Law of Gravity (D) Law of Reaction
75 Page 6 of 16 - & Page 7 of 16 ~  P.T.O.
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15. 1% gt — 1 3 safve 3 ote o Rrgrt & weor  afegeh — 11 8 o Flward @@ 1

15. Given below are traits of the big five theories of personality in List — I

.m,mm Ly .m,mu_ S | with their characteristics in List — I : 1
Rrvward List-1 List - 11
5 %3 T b Traits of Big 5 Characteristics
(a) QAT L WRd, STRITETG! 3 WIS L) (a) Openness 1.  Active, optimistic and social
(b) Ea i, EURE, gaTEn gan 9 fafaa (b) Extroversion ii. Insecure, nervous and anxious
(¢) %ﬁﬁa i, &S, T3 miimc/m A wHfaa W_ﬁ_.w (¢) Neuroticism 111.  Creative, focused on tackling new
(d) TEuaa iv. E=aR, g 9 RN (d) Agreeableness challenges and curious

gt — 1 S 02 1 gt - 11 & e Hiftre 3tk Fraferfea 3 @ ad faswes gie :
(@ () () @

AR R G R
B) ii i i iv
(0 v B i
M) iv i i i

1V.

Friendly, helpful and trustworthy

Match the items of List — I with List — II and choose the correct option

from the following :

@ () (© (@
(A) -1 AV B gt
(Wi . 1 H o iv
(CO%w .-, m 1
M) w23 u i

16. £} JFuTon AR W R i % w@d F Wi 396 qeaied a1 R |
N a 1 16. The concept of , generally refers to a person’s evaluation of, or
e Sl 2 | . : 1
SRl (B) 3IITH-HHMH attitude towards, him or herself.
() AHITR—heH I - (A) Mental-imagery (B) Self-esteem
(C) HTeH-==i O (C) Self-talk (D) Goal-setting
17. ey weg wfie < &I & &9 3 off T ST 2 | 1 17. The Swedish word speed play is also known as 1
(A) FTéers SR (B) 3iaud fafy (A). Fartlek training (B) Interval anwom
e BT D) = 5ty (C) Continuous method (D) Pace method
O 1 18. In which type of exercises movement can NOT be seen directly ? 1
18. g TR & AT | TTATHIT T8 €9 g W@._w Tal sl 27 (A) Iso-tonic (B) Iso-kinetic
(A) HTEERIHS (B) | FTEETHTATH (G) Iso-metric (D) Plyometric
(C) zamfys (D) EEH SECTION - B
(Attempt any 5 questions.)
glg -d 19. Suggest any two corrective measures for each, bow legs and round shoulders.
(Frdt 5 w1 & I G 1) 1+1=2
19. YUK it 3tk e &t & feu gr-g gYIcdsh 394 mm:m.w | 1+1=2 20. Enlist four benefits of participation in physical activities for children with
. o : special needs. B x4=2
fa9y HAEw ¥ foru s nfafafrdt & 9w o % IR @ @l gEEg
20. FHA AT T 1 x4 =2 21. Enumerate any two myths related to food items with their respective
PITTT | . R o o e IR | 14150 facts. 1+1=2
91. WU-YeTyl ¥ gatud frei e fayest 3t 379 ﬁm_,ﬂm ﬂ_w ~ 22. Mention the fitness index score formula and its norms for the Harvard
22. wlw@da@mswamm:idwwgﬂwﬂﬂﬂm&_aa@%ﬁ_ 1+1=2 Step Test. 1+1=2
23. AEME 9T %1 9aH & fou foregi al it &1 Jooi@ HifaT | 1+1=2 23. Mention any two strategies for enhancing adherence to exercise. 1+1=2
24, w& Fwdl # Reerdt e w fita 8, A1 9 370 7Y, ged 3 0 7 ema § 7 7 IH 24. When wrestlers fall on the mat, why they spread their arms, knee and
3ifaey fag $ifm | 2 legs ? Justify your answer. 2
75 Page 8 of 16 ~ 75 Page 9 of 16 ~  P.T.O.
!
\ %
O |




s
¥
.

EW m_%

=]
SECTION - C
Qw..n% o nﬂmw..mma m__yn ) . . (Attempt any 5 questions.)
25. “fondt oft 291 Y ynfy 39 m_@n:%% Jel & AN ° yfafefad gt 2 17 39 HUA & 25. "The organisation of its community sports reflects the progress of any
oy & “RfrE o Riw AT aun “war F R Qe it FET IR T | country.” In the context of this statement, outline ‘Run for a specific cause’
1%+ 1% = and ‘Run for unity’. 1%+ 1% =3
26. Wal A wigaadl & yrfierd @ 8 aTet Wi § g STl TR ATl 1x3=¢ 26. .Ummolcm the physical and psychological benefits of women’s participation
27. wdiew #1 wRwfia Fife |t e & aficed Y gard $H faftrat =1 aui In sports. i 1x3=23
$IT | 1+2=; 27. Define flexibility. Explain the methods to 5538 mmﬁwm:% for a @Bbmmn 1+2=3
. £ = Y © y &
28. wiaFifar & SR ATER & forgl &= oEdl &l 3o hIfT | 1x3={ 28. Mention any three importance of diet Q.E.Sm oogvmﬁnpo: 1x3=3
29. T =1 9l Hifve . 172+ 1% ={ 29. Describe the following : 1%+ 1% =3
(a) IraferE wmEn (Fagsre aiegw) (b) 3TETd HEAT (R JicgH) (@) Residual Volume (b) Stroke Volume
30. m._,mda 3R - smspmsar i NEL ST 9 37 FqT3 | . ¢ 30. Compare and contrast the hostile and instrumental aggression. 3
| QUE - Y SECTION -D
(AT faweq Iueiey 8) (Internal choices available)
31. JE 3 39 &7 °§ G- g e 3@ & _ar 11 41 =71 & Thaa=r GEIL 31. Aarti prepared a fixture of 11 teams to conduct Kho-Kho tournament in
o, a1 i R R man 2 - . her locality as shown below : 4
1 B2 —
1. B2 r¢e=——
9 ] —— ) l—
_m Lo i _N 2
3 : , J——
; 4
‘T— _ b=
. Pl 5 P
6 B4 — : 6 B4 — i
7 B3 IJ‘.\.Illl 3 { by
8 _w.llL
mll
D e g 9 ]
10 Bl -e— 10 BB
10 | 10
11 Bl —— e Bl
3T 20 0 R % YR W AR g % 9 At - Based on the above given fixture, answer the following questions :
() 38 wfafar i ar 78 frert areh ) & ger a7 (1)  What is the number of Non-bye teams in this tournament ?
(A) 06 (B) 07 (49 06 (B) 07
(C) 08 (D) 09 (C) 08 D) 09
(i) afe 3wk fham=r 48 21 &1 BT a1 &1 il TE& Il | (i) If the above fixture had been of 48 teams, then the number of byes
would have been A8%
75 Page 10 of 16 o~ 75 Page 11 of 16 ~ P.T.O.
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(iii) 741 29 d9 g@n 3N
FYET

frast a7 ) a1d i g7 710 FA F1 g e | s A
(iv) ﬁggwmﬂsﬁmﬁrwﬂ%ﬁﬂmﬂ%m_;_%w&uwﬂ%_2
,ﬁﬂﬂﬁmm@ﬂaﬂwuﬁﬁw%mﬁw,m_v&wqm%&gwﬁﬂm_:_wgu

T, 3 & E Y H FH AET 8 |
(A) = B) fafew vgfa p
(C) #ifsm (D) 3T 9

(Fae gfariia sl & o) :

0 % woRE e Y 30 e § sed s i $H 6 e M_ |
TEUT 3 IR TSl % A ficraw %3 afufadt &1 e fea u?ﬁ%ngaw feTe
17 Ft &1 U SIS fheea R fF | #9 F A 3 38 F3 <l <1 AT
F1 1, Hihd 37<d: 39 T%aal He! |
I WO AT HIH Gd FH o SR R e we o S g ;
(i) 39 wfaaifar § e fehaa B9 @at a7
(ii) TTE 3R THT ST & AT e B % =X 3 TS A I Y@ S ¢ |

(A) FTHATHE AT (B) o ZAME |

(C) TZs-Tted gAmHe (D) HHEHIHA ZAHE |
(i) A= % N U A9 F ot Raendt araw g1 e, fea afafa % grn s@et yaud fepa

ciouil
(A) ST AmEfd (B) d&ATh! AMHId
(C) foaafafa (D) feraorm afatd
(iv) Tr=e 34 4 30t Sl 1 918 Frafed H4 & foru fopm g3 &1 39anT fan T o 7
JHAYCT]

St 374 & 30 Sl 1 AT TEfed 0 ¥ o foR| 3 w1 393 R o

30 ST fore 6 e % 2R, faaw & e fen frees 3 e smavaear ard mﬂ
F ae F 91 3 THEH YEE F | 30 aaE 5 W, Shetis A T Al

¥ fora 3% Frm e 391 Frgn 9T 2 | 399 AT 3% U a1 & Weu Hl U F

foru 38 wrifees nifafafer) & v o & fore 3fta i g A1 4 |

ITAH FEROT 3R 3T 9§ o HT9R W Freafafea e % 6t e

(i) Teasmg it § 9 o[ & fofe =gaam 3mg 34 gt =1fgu |
(A) % (B) 6
(C) 8 D) 9
75 Page 12 of 16 ~
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(1) 7th match will be played between team number and
OR
Write the formula to calculate byes in lower half.

(1v) The provision in which good teams are placed in different half or
pool, based on their ranking or previous performance not by
allotment of draw, so that they do not play with other teams in the
first round is known as .

(A) Bye (B) British method
(C) Seeding (D) American method

(For Visually Impaired Candidates Only)
Tarun’s physical education teacher gave him the responsibility of
organizing a Kabaddi competition in school. Tarun along with his
classmates formed several committees and prepared a knockout fixture of
17 teams for the Kabaddi tournament. He faced many challenges in
organizing the match, but finally, he was successful.
Answer the following questions based on the above case and your prior
knowledge :
(1) How many matches will be played in this tournament ?
(11) saves cost and time and makes each match intensive
because of fear of elimination.
(A) Knockout tournament (B) League tournament
(C) Round robin tournament (D) Combination tournament
(1) Two team players got injured during the match, which committee
will manage it ?
(A) Logistics committee (B) Technical committee
(C) Finance committee (D) Marketing committee
(iv) Which formula was used to allot byes to the above teams in the lower half ?
OR

Which formula was used to allot byes to the above teams in the
upper half ?

32. During the Physical Education class, Vivek’s physical education teacher

provided information about sports for children with special needs. He
explained, how they are catered for the Paralympics, Deaflympics and
Special Olympics. Additionally, he advised them to motivate such children
to participate in physical activities to improve their performance.

Answer the following questions based on the above case and your prior
knowledge :

(1) To participate in Special Olympic, minimum age should be

years old.
(A) 7 (B) 6
(@) 8 M) 9
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(i) 9&AT S8R 3N o F garm |

(i) Rreifts & Teums 2 S 2
(v) T a=s] & fore it nfafefiral 6t e s 3 fore a8 @) worfeat féffge |

33. . .
M&Mﬁ%&msﬁwi& | 35 BT I 3 T 6 @el § wm o @ 5
ﬁa%ﬂﬁi@imﬁaﬁ@ﬂu%%&%?ﬁ%%
ﬂ%wﬂ@%wﬂ%%iﬂ&uﬁsﬂ% Z&i%&.

M% R 6 st (B) eI s i afig
i __w_:_m.w.mmﬂﬂa%wm_ (D) «ARZ FT =Y
) ST STeqe (gea-Frm) #12 7
(iii) m_wwmﬂ%,mﬁﬁg T U 1 T B
(A) ﬁ%w%ﬁ%i«?%im@%ﬂﬁ
(©) T AT 3 7 g1 B T T < AT

(iv) -7 FEeicran 3 wafiad |

N ®
e (D) HEA&ggan
GE-F
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(11) The first Deaflympics was held in the year

@c <<r..o was the founder of the Paralympics ?
(iv) Write any two strategies to make physical activities accessible for

special children.

33. Diya went to sports training centre for the first time. Her coach informed her

that participation in sports not only promotes physical growth but also has
social and psychological benefits. He highlighted numerous physical benefits
for muscles, heart and respiratory systems. He advised her to continue daily
practice to improve her health related and skill related fitness. 4
Answer the following questions based on the above case and your prior
knowledge :
(i) Which is not a long-term effect of exercises on the muscular system ?

(A) Hypertrophy of muscle

(B) Increase in glycogen stored

(C) Ligament and tendon strengthen

(D) Accumulation of lactate
(ii) What is cardiac output ?
(iii) Choose the correct statement related to tidal volume :

(A) Amount of air inhaled and exhaled in one breath.

(B) Amount of air inhaled in one breath

() Amount of blood pumped out by heart in one stroke.

(D) Amount of air exhaled in one breath
(iv) Lactic acid tolerance relates to

(A) Strength (B) Speed
(C) Flexibility (P) Endurance
SECTION - E

(Attempt any 3 questions.)
34. Describe the procedure and benefits of Mandukasana and Makrasana to

control hypertension. 2% + 2% =D

35. What do you mean by Equilibrium ? Explain how Equilibrium increases
with the influence of various factors by giving suitable examples from

sports. 1+4=5

36. What do you understand by circuit training ? How a coach will plan circuit
training sessions with 6 stations to develop fitness of his new trainees ?
Explain. 2+3=5

97 Write in detail the procedure and scoring of ‘Flamingo Balance Test’ and
‘Plate Taping Test’ recommended for the age group 5 — 8 years by SAI
Khelo India. 2V + 2% =15
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